1.1 Bode Plot Techniques
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e Consider the following equation:
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e (Example) Consider

K(l + Tls)

- ith K >0
s(L+ Tos)(1 + 2Cs/wn + s2Ju2)

G(s)

|G (jw)las = 201og, |G (jw)]
Jw(l + jwT,) (1 + 2jwC/w, — w?/w?)
= 20log | K| + 201logyq |1 4 jwTi| — 201ogy, |jw| — 20logyg |1 + jwT,| — 201ogyg |1 + 25w /w, — w? /w?]

= 20 loglo |K‘ + 20 loglo A/ 1 + W2T12
o2\’ w)’
—201log; |w| — 201logyy /1 + w?T? — 20 log, (1 — (—) ) + 4¢? (—)
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— 20 loglo

LG(jw) = LK + L(1 + jwT}) — ZLjw — L(1 + jwT,) — Z(1 + 2jw/w, — w?/w?)  [rad]
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o G(jw)el 714 Q1A 471A):
1. As A5 (0]5): K
- o|5 Kol tigt 2IAAY 275412 20log K [dB19] =3 2 A ojt}
- o5 K7} 104 S7}shH o856k dBgL-2 208] S7H_tct,

Kqp = 20log;y K = constant

0° K >0
LK =
—180° K <0

11



o (AR E AR 1AP: sT and s
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1 n
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Jw

20log |(jw)"| = 20nlog |w| [dB] Z(jw)" =90° x n
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3. T W W 4 (L% AAD: (14 sT)F
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- GG HEl: 1+ jwr
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e
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2\ 2 2
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—40log = [dB] if w> w,

~

0° if w<<wy
=4 —90° if w=w,
—180° if @ w>w,

QCwi
NG
- (2)
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